2.3 Adding and Subtracting Monomials (Collecting Like Terms).notebook February 26, 2024

Solutions

Page 66 #s 3, 4, 5, 6, 8, 10ace, 11bf, 12a,
14, 15bdf
Page 68 #s 16af, 20c, 24, 26c, 28

3. Identify each of the following pairs as like terms or unlike terms.

a) 6x and 14x b) 10x and 10y ¢) —5a and 10a d) —9x and 5
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4. State the coefficient for each of the following terms.

a) 8x b) 15y c) —dx d) x

e) —y

Contbcientis The l{'j b in Kront
o the \/Qf;o\,o,Q,

D& IS )4 d) I -

5. Simplify each of the following expressions by collecting like terms.

4) x+x+x+x b) 2y+5y ¢) 3x+4dx+x d) 9a—5a+4a

= Sx 2}1’) =8x =&«

e) 2x+6x—8x £y 3k —Tk o) w4+ 5w—0w h) 2z—10z+7z

= Ox =-4k =-3w =-2Z
= O




2.3 Adding and Subtracting Monomials (Collecting Like Terms).notebook February 26, 2024

6. Simplify each of the following expressions by collecting like terms.

a} x+_‘-+}|+}.‘+}.‘ b) 20+5(€+6b+10b C) 3g+]0h+4g+3h

= 2543y = Farlh = Ttk

d) 10c+8d —4c—3d e) Sx+2y—8x—y ) em—4m+6n—3m—2n

:éc+ga( :_3)C+D =~~~ t+ln

8. Kalani and Marc were asked to simplify the expression 9x+3—4x—10 by collecting like terms.
Kalani’s answer was Sx+(=7) and Marc’s answer was Sx—7. Was Kalani correct? Was Marc

correct? Explain.
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10. Simplify each of the following expressions by collecting like terms.

a) 2x+5x+6+8 c) 1lox—4y+x+12y e) 6t+5—t-9

— — e —_— e — ——
—_— e o~ am— ——

2 e +S% = FIx b +x = Fx ot-t =5t
€48 = 1 ~hytly=Sy ST =c4

= I+ = 1Rty

11. Simplify each of the following expressions by collecting like terms.

b) —8x—(—2x) f) 2—4m+9+(—11m)

T Cm— cm— —

= ~8>c+2x ~4n= e~ = ~ 15
= —bx 2+9 = |l
=> -’€M’f‘”
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12. Simplify each of the following expressions by collecting like terms and the evaluate for x =3
and y=-4.

a) 9x+8y—4x+5y

AQx_ - U = Ox
8&’?‘ SD: 'BD
= S +13y

{
|
N
Y

14. ldentity each of the following pairs as like terms or unlike terms.

a) 5x and 3x° b) —8x and %_r c) —lrz and %rz d) 3}:3 and 2}'3
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15. Simplify each of the following expressions by collecting like terms.

b) 14x*+5x+3x? —2x

—_—

d) —2[1':2+4.\c+(—4.':2 —5x

) x*—4dx+x" +(=3x)
— _— T

rRNC R N
st 3t = 12 S
~4x -3 =~
Sx - 2x =3x R
N = 2x -*x
= 1?x +3x
220 o = =2%x
4 ~Sx =-X
— —24%x*-X

16. Simplify each of the following expressions by collecting like terms and the evaluate for x=-2
and y=3.

a) —2x +4dx+6x°—Tx

—

f) 3x'—4y+Tx—8y +6y—Tx

~0c 4 bx = b — 4y + by = 24
by - F>x =-3x Fx - ?x =0
= 43 - ?>>QL~837‘+ZD

_SMI_: I‘AX:'ZI‘Q:B

& (2)*=3(-2) 3(-2) -8(3) +2(3)
= (9)-(-¢) T 3(«)-8(2) + &

= [2-722 +&
- 0re = - 5%
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20. Simplify each of the following expressions by collecting like terms

2 5 4
C]E_I_-';S—_E_-Fi
Zx-gn Se%
- % __S = S 4=
6" &~ o3
_ | = é§
= g

|
o\l'—

x 1+ 4

W)~

X
24. Determine a simplified expression for the
perimeter of the trapezoid shown on the right.

=)
et

4y

3x

= 2y+x +hy+3x

29+Ll-_‘9 = 63
x +3x = bx
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26. Simplify each of the following expressions by collecting like terms.

¢) —Ta*b—4a’b* +8ab* +3a*b* —24%b

~Foib - 2atb = - 92k
4 2L +Ra0ht =~ kbt
== —‘ﬁazk‘o\'ll-f +8ab’

28. A square has a side length of 54 cm. A triangle has a base of 44cm and a height of 74 cm.

Determine a simplified expression to represent the difference in the areas of these two shapes
Which shape has the greater area?

. 1

5 Ton

\

I

A = /ZX ) A = 13)(1\
2

A = Soﬂ xzsox /4 - L(_O\Z)f%"o\

A = ZSO\ /4 = 50\2 — I(-(-Qz

Dfﬁemx\ce in veos = 25a° ~lka

= ([
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